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A.2x-4=10
B.5x-6=3x-8

C. 34 x+% = 5x -125/3
D.7y+5-3y+1=2y+2
E. X+5=3/X+10
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W2x-4=10

Solution Keep Practicing >

| Show Steps = |

2x—4=10 : x=

=1

Steps
2x—4=10

Add 4 to both sides
x—4+-4=10+4

Simplify
2x=14

Divide both sides by 2

2 _14
2 2
Simplify

x=7T

click here to practice linear equations »
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H5x-6=3x-8

Solution Keep Practicing >

| Show Steps = |

Sx—6=3x—8 : x=-1

Steps
dx—6=3x—28
Add 6 to both sides

Sx—6-+-6=3x—38+6

Simplify
hx=dx—2

Subtract 3x Ffrom both sides
x—J=3x—2—-3x

Simplify
2x= -2

Divide both sides by 2

Zx_ =2
2~ 2
Simplify
xr= -1

click here to practice linear equations »
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03/ x+% = 5x -125/3

Solution Keep Practicing >
|r Show Steps | = |
3y 3 —5p— 128 =
e T *=10
Steps

3y+83_3_5, 135 _ 5

TF 53 %

Simplify Show Steps @
3y —Fx— 85

=5

Subtract 5x from both sides

3 a5 55 s
7 Bx = Bx 5 ax

Simplify Show Steps @

Multiply both sides by 4

1T\ 4385
4 Tx) =4 T)

Simplify Show Steps @
—17x= —170

Divide both sides by — 17

—17x — —170

—17 —17

SilTlpliFy Show Steps
x=10

click here to practice linear equations »
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DA7Yy+5-3y+1=2y+2

Solution Keep Practicing >

s

| Show Steps = |

TW+i—-3y+1=2yv+2 : y= -2
Steps

Wi —3y+1=2y+2

Group like terms

Tv—3r+a+1=2v+2

add similar elements: Ty — 3y = 4y
dv+5+1=2p+2

4Add the numbers: 5 +1=6
dy+6=2y+2

Subtract 6 from both sides
dv+6—-6=2v+2-6

Simplify
dy=2v—4

Subtract 2y From both sides
dvy—2y=2y—4 -2y

Simplify
2v=—4

Divide both sides by 2

y_ -4

2 2

SimpliFy Show Steps &
y= -1

click here to practice linear equations »
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[W/x+5=3+/x+10
Solution Keep Practicing >
|' Show Steps = |
vVx +5=3y/x +10 : NoSolutionforxe R
Steps
Vi =5=3yx =10

Subtract 5 Ffrom both sides

Vi =5-5=3,/x +10-5

Simplify

Ve =3.x +5

Subtract 3+/x From both sides

Vi —=3Wx =3 5 -3

Simplify

—2yx =5

Divide both sides by — 2

—2x _ 5

-2 -2

Simplify

Vx = -

tafen

‘-.f'ﬂx) cannot be negative forxe R

Mo Soluticn Forx e B

click here to practice radical equations »
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